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Question No.1 Marks: 1.00
Bookmark
A stands in the 13th position from the front of the queue and there are 2 persons between A and B. B
stands after A. If the first 8 persons are removed from the queue then what is the position of B from the front
of the queue?
A U % 9 9 133 RIF R TST 8 3R A 3R B & o9 2 Afad TS 51 B, A S 91G @Sl ¢l Al Ugal 8
Hfaal B! Ufad ¥ geT fear ST € df ufdd & T I B &1 RIH 31 82
(A)O 5
5
(B) ® 8 (Correct Answer) (Chosen option)
8
O 7
7

DO 6
6

Question No.2 Marks: 1.00

Bookmark
A child is standing in a lawn facing South-East direction. If the child turns 152.5 degrees in anti-clockwise
direction and 62.5 degrees in clockwise direction, which direction will the child face now?

TP ST A1 A Sf301-ud fo=m & 3R i Sl @eT ¢ 1 IS =t arTad o= H 152.5 fgult 3R aféromad
fe=n ¥ 62.5 f&3ft gear €, o = s oy fomm & ok sifrga ghm?
(A) O South-East
Sfaorgd
(B) O South-West
aférur-ufgm
(C) O North-West
JWR-UfEH
(D) @ North-East (Correct Answer) (Chosen option)
SW-qd

Case Study -3 to 6 4.00
Directions: In a certain code language:
'late is bad' is written as 'bo ka ri',
'strict but late' is written as 'cn fp bo',
'he is strict' is written as 'ka cn gl'.

Question No.3 Marks: 1.00
Bookmark
What is the codt_e for 'strict’ in the given code language?
2 1S B U | 'street' & AW o 1 82
A O fb
fb
(B) @ cn (Correct Answer) (Chosen option)
cn
(C) O ka
ka

(D) O bo
bo

Question No.4 Marks: 1.00
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What does the code 'ka' stand for?
HT 'ka' BT T 34d g2

A @®
(B) O
€O

(D) O

is (Correct Answer) (Chosen option)
is

late
late

bad
bad

strict
strict

Bookmark

Question No.5

What is the code for 'bad' in the given code language?

& 1S He WIS A bad' & 1T He w72

A @®
(B) O
€O
(D) O

ri (Correct Answer) (Chosen option)
ri
ka
ka
cn
cn

bo
bo

Marks: 1.00
Bookmark

Question No.6

What does the code 'gl' stand for?
% 'gl BT T 31 g2

(A) O
(B) O
©)O
D)@

is
is
strict
strict
but
but

he (Correct Answer) (Chosen option)
he

Marks: 1.00
Bookmark

Question No.7

Marks: 1.00
Bookmark

If a man covers the first half of the journey at 266 kmph and the second half of the journey at 399 kmph, find
the average speed of the total journey. (In kmph)

& TP e AT & TS S U BT 266 kmph BT TTA T R TET F GER MY UFT BT 399 kmph &1 T1fd §
T HRAT €, Al $o I B 3 TR F1d B (kmph )

(A) O
(B)O
€O

(D) ®

320.2
320.2

318.2
318.2

321.2
321.2

319.2 (Correct Answer) (Chosen option)
319.2

Question No.8

What should be written in the place of question mark in the given series?

M8, 015, Q22, ?, U36

& 15 e ¥ uyarae e & RIM WR 1 e 9 9y

M8, 015, Q22, ?, U36

A @®

S29 (Correct Answer) (Chosen option)
S29

(B) O Q22

Q22

Marks: 1.00
Bookmark




(C)O U25
u25

D)O T25
T25

Question No.9 Marks: 1.00
Bookmark
A man starts from his house and walks 11 km North and turns towards his right and walks 5 km and
continues in the same direction for another 14 km. He then walks 11 km in South direction and finally walks
13 km in West direction. What is the distance between his starting and ending point?
TP MTEHT 30 TR Y I IR BT § 3R 11 km IR BI 3R IAdT g 3R 30 It 3R SHR 5 km
AT & SR T I =M H 8RR 14 km P Teidl ¢ | 5= I8 SFar0T fa=m & 11 km 9@ & SR ofd & ufdm
fE=m & 13 km TAT B 1 TP ARG SR sifqw fig & Fa o g F B2
(A) O 10km
10 km
(B) O 5km
5 km
(C) ® 6 km (Correct Answer) (Chosen option)
6 km
(D) O 8km
8 km

Question No.10 Marks: 1.00
Bookmark

Find the next number in the series.
1225, 1150, 990, 745, 415, ?
ST o STl TRSAT 1 DI |
1225, 1150, 990, 745, 415, ?

A O 8
8

(B) @ 0 (Correct Answer) (Chosen option)
0

©) O

1
1
D)o 9
9

Question No.11 Marks: 1.00
Bookmark
Pointing to a woman, a lady said, "She is the daughter of my father's son's grandfather who has only one
child." How is the woman related to the lady?

T Afgell BT 3R IRT A gY, TP 3ARA 7 $gl, "8 R fUd & 3¢ & IS BIeR Bl 91 §, US BT B hadl
TS & G g 1" Al &1 3R I 1 Taief 872
(A) @ ':}Lg (Chosen option)

(B) O Mother (Correct Answer)
HTdT

(C) O Granddaughter
PERSIRE

(D) O Daughter
CEl

Question No.12 Marks: 1.00
Bookmark
A box containing the denominations of one rupee coins, two rupee coins and five rupee coins amount to
Rs.1080. There are equal number of coins in all denominations. What is the total number of coins in the
box?
TH S B U ¥UY, g1 30 3R Ui 08 Hegat & Ry § 6T $d I Rs.1080 8 1 I eaa &
Ryaen! o e T0H 8| ST § Riae! &1 o e favai 82
(A) O 115
115
(B) O 425
425




(C) @ 405 (Correct Answer) (Chosen option)
405

D) O 135
135

Question No.13 Marks: 1.00
Bookmark

A woman started to walk for 10 km in the East direction. She then took a right turn and walked 14 km and
took a left turn and walked 19 km in that direction. She walked 14 km in the North direction, took a left turn
to walk 19 km before walking 24 km in the north direction. How far is the starting point from the ending
point?
TH O A gd =M H 10 km T L= fHaT| AR 98 G/ Sa 14 km Tl § 3R TAYTT IT¢ TSHR 34
=M & 19 km Taht &1 a8 ITR A=W H 14 km T B, TR IR =M H 24 km T J UGS 19 km T & forg
I gt 51 3R fag, sifom fofg @ fovait @R 82
(A) O 24 km

24 km
(B) ® 26 km (Correct Answer) (Chosen option)

26 km
(C) O 16 km

16 km
(D) O 14 km

14 km

Question No.14 Marks: 1.00
Bookmark

Read the given details carefully and answer the question given below

A@B means A is the father of B
A#B means A is the mother of B
A+B means A is the son of B

A*B means A is the Daughter of B

In the relation M#N#O+P how is P related to M?
feu e faaur &1 e @ U 3R Y fRe e yy #1337 S

A@B FT 3 g A, BT g
A#B HT Y B A, B I AT
A+BHT I T A BHIUI§
ABHTIIEA BB T &

Ty M#EN#O+P H, P BT M ¥ 1 Tdef 57

(A) O Grandmother
PERECH

(B) O Daughter-in-law

(C) O Grandfather
EERIE

(D) @ Son-in-law (Correct Answer) (Chosen option)
-394l

Question No.15 Marks: 1.00
Bookmark

Pointing to a girl, a man said, "She is the niece of my mother's only son's father's only daughter." How is the
girl related to the man?

TP TSH! B 3R TURT FRd §U TS ATGH 3 HgT, "8 B AT & Faild o9 & a1 i swaldl et dI g g1
TASH! BT I MeH! T FT Y'Y 52
(A) @ L\lﬁi;ce (Chosen option)

(B) O Daughter (Correct Answer)
adt
(C) O Granddaughter

PRSI
(D) O Cousin




EaSE

Question No.16 Marks: 1.00

Bookmark
Anita travels at a speed of 66 kmph and she reaches the destination in 6 hours. Find the distance she
travels. (In km)

3T 66 kmph @1 TIfd I THT Rt § 3R I8 6 B H ey dp U ST &1 IP gRT a9 B T8 g3l 71
PITEI (km H)
(A) O 398

398

(B) @ 396 (Correct Answer) (Chosen option)
396

(C) O 400
400

(D) O 394
394

Question No.17 Marks: 1.00

Bookmark
How many minutes will Raman take to cover a distance of 1575 meters if he runs at a speed of 54 km/hr?

e T 54 km/hr B 1A J SISAT 8, 1 1575 HieR DI g8 00 B | 39 foba e @i
(A) O 1.65

1.65
(B) O 1.45

1.45

(C) ® 1.75 (Correct Answer) (Chosen option)
1.75

(D)O 1.55
1.55

Question No.18 Marks: 1.00

Bookmark
Find the next number in the series.
654, 738, 658, 734, 662, ?
SR T STl TRSAT T DI
654, 738, 658, 734, 662, ?
(A) O 744
744

(B) O 742
742

(C) @ 730 (Correct Answer) (Chosen option)
730

D) O 734
734

Question No.19 Marks: 1.00
Bookmark
Dhivya walked 13 km towards North and took a right turn and walked 19 km. She walked 4 km towards
North and 7 km towards West. She then finally walked 17 km towards South. How far is she from the
starting point?
faa IR @ SR 13 km A § 3R 1 TSt © 3R 19 km TAT 6|1 T8 STR B 3R 4 km 3R UEH &1 3R 7
km Teclt 81 TR 98 Sidd: SfEur &Y iR 17 km Taclt 31 98 SRS fog A farat R 82
(A) O 14 km
14 km
(B) @ 12 km (Correct Answer) (Chosen option)
12 km
(C) O 15km
15 km
(D) O 16 km
16 km

Question No.20 Marks: 1.00




Bookmark
Find the next number in the series.
1,3, 11, 53, 261, ?
el H TSl AT JTd FIfST |
1,3, 11, 53, 261, ?
(A) @ 1303 (Correct Answer) (Chosen option)
1303

(B) O 1330
1330

(C) O 1301
1301
(D) O 1031
1031

Question No.21 Marks: 1.00
Bookmark
What should be written in the place of question mark in the given series?
G4, 18, ?, M16, 020
& 15 e ¥ uyare e & R WR A e 9 arfike?
G4, 18, ?, M16, 020
(A) O J12
J12
(B) O J14
J14
(C) ® K12 (Correct Answer) (Chosen option)
K12
(D) O K14
K14

Question No.22 Marks: 1.00

Bookmark
E is the son of A who is the only child of her mother. D is the daughter of C who is the sibling of A's spouse.
B is the only son of C's mother, F. How is A related to F?

E, ABI T €, A 30 Tf T Shaildl G g1 D, C Bl Tl § 3R C, A B/ Siia-Tanel 1/eh! TRIeTRIeT B
B, C &1 HTdT F &1 3H Al U3 &1 A T F I 1 AeY g2
(A) O L\lﬂi;ce

(B) O Daughter
CGl

(C) O Cousin
Hio

(D) ® Daughter-in-law (Correct Answer) (Chosen option)
SIc-g-1-dl

Question No.23 Marks: 1.00

Bookmark
In this question, a statement is given followed by two conclusions numbered i and ii. You have to assume
everything in the statement to be true, then consider the two conclusions together and decide which of them
logically follows beyond a reasonable doubt from the information given in the statement.

Statement:
One who has faith in God doesn't commit sin. Ram has faith in God.

Conclusion:
i) Ram doesn't commit sin.
i) One who doesn't commit sin will have faith in God.

Choose the appropriate one from the following options
(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either i or ii follows

(D) Neither i nor ii follows and

(E) Both i and ii follow.

SOy ¥, U Y- fear a1 & 59 918 3 e i 3R i few 7 &1 3mues! sy 7 < 1 9t a1 & 9 o
ém%,ﬁwaﬁﬁw&fwwwuﬁawm%sﬁ?ﬁﬁqm%ﬁ?wﬁﬁﬁwﬁw&, CHIE R AR




TFBR! BT T IR T Y W Al U F IHR0T BT 8|
YT o SR F fIYRT W1 § 98 UTT TS HRAT B | IH SR H ST 3@l |

i)wmqﬁm|
ii) S UTY T8 BT 3, 98 SR H SITRIT T 8

fafiied fomedl & O Iugad fdewed &1 T8 B
(A) Fad FshY | 3R BT §

(B) Fad fshY ii SR HRT §

(C) TN Qi TT i SFIARYT &l §

(D) A i 3R A BN i SITROI BT § 3R

(E) i 3R ii GIFI SRV B & |

(A) O g

B)O D
D

(C) ® A (Correct Answer) (Chosen option)
A

D)O E
E

Question No.24 Marks: 1.00

Bookmark
Mukesh stands in the 4th position from the front in a queue and there are 2 persons between Mukesh and
Rakesh. Rakesh stands after Mukesh. If the first person is removed from the queue then what is the
position of Rakesh from the front of the queue?

ThY T Ufad H T § 1Y RIF R W1 8 R H 3R AH= & s 2 Afdd T & | IH, Th¥ & U
W31 71 Ife ugal faa &I Ufad ¥ geT faan Sdm &, ot Ui & A J =T BT RIH 1 gI?
(A)O 5

5

(B) @ 6 (Correct Answer) (Chosen option)
6

€O

(D) O

Ah OW

Question No.25 Marks: 1.00

Bookmark

What will be written in the place of question mark in the given series?
C3A1N14R18724
3t 13 e ¥ uyarasd fuvg & R W w1 forar seme
C3A1TN14R18724
A)O W

w
B)O U

u

oV
\%

(D) @ X (Correct Answer) (Chosen option)
X

Question No.1 Marks: 1.00

Bookmark
What is the maximum tenure of Comptroller and Auditor General of India?

YR & e SR AgTeRaT Uierds &1 SHfddd HridmTe fha giaT 82
(A) @ 6 years (Correct Answer) (Chosen option)
6 a9
(B) O 10 years
10
(C) O 3years




39y

(D) O 5years
599

Question No.2

Who among the following has described the Directive Principles and the Fundamental Rights as the
‘Conscience of the Constitution’?

frofiad & 9 fram e awl ok M SERT &) <faym ot srer & w0 & aftfa fear g2
(A) O Alladi Krishnaswamy lyer

3! HURATH! SfER
(B) @ Dr.B.R.Ambedkar (Chosen option)

ST 4l 3R, ESHR

(C) O Granville Austin (Correct Answer)
PIEICK]

(D) O K.M.Munshi

&, um. =i

Marks: 1.00
Bookmark

Question No.3

Which forest in India is the home to the Asiatic lions?
YR & -1 ST TREATS IR 61 W 52
(A) @ Gir forest (Correct Answer) (Chosen option)
ST
(B) O North east forest
ST

(C) O Himalayan Forest

feaTerdt Sire
(D) O Nallamella Forest

FCATHAT ST

Marks: 1.00
Bookmark

Question No.4

Who among the following chaired the 7th Meeting of 'BRICS Communication Ministers 2021'?
frafafad o 9 forem Toem $ar @5 2021' 3t 74 do i sreerd o
(A) @ Ashwini Vaishnaw (Chosen option)

S Jwrg

(B) O Anurag Singh Thakur
SR 18 BIPHR
(C) O Rajeev Chandrasekhar

(D) O Devusinh Chauhan (Correct Answer)

Marks: 1.00
Bookmark

Question No.5

Which kind of inflation takes place when the supply falls drastically and the demand remains at the same
level?

I yfef & UK RTae 1t § SR AN THM TR WR Gl § I fhd UhR & GaRwifd gidt 82
(A) O Reflation
g
(B) @ Bottleneck Inflation (Correct Answer) (Chosen option)
1
(C) O Stagflation
Tdt
(D) O Skewflation

fawH gerwifd [Repes-waixH]

Marks: 1.00
Bookmark

Question No.6

Marks: 1.00
Bookmark




Which of the following articles was added to the Indian Constitution through the 97th Constitutional
Amendment Act of 20117
fafafed & § SH 91 3rTwde 2011 & 974 WAy Txieq ffTay & mrem ¥ YR Ifqur & SsT m u1?
(A) O Article 151
151

(B) @ Article 43B (Correct Answer) (Chosen option)

3¢ 434
(C) O Article 127

3G 127

(D) O Article 51

3¢ 51

Question No.7 Marks: 1.00
Bookmark
Which of the following resembles the ‘Instrument of Instructions’ enumerated in the Government of India Act
of 19357
frafied & @ B, HRd WebR 3o 1935 & aftfe Fd= o1 awras Geghe $iith Segai)y d e
ST 872
(A) O Anti-Defection Law
caged faRIdt ST

(B) @ Directive Principles of State Policy (Correct Answer) (Chosen option)
Iy & ifa e Rigia

(C) O Judicial review
e THtan

(D) O Preamble of the Constitution
TG BT TR

Question No.8 Marks: 1.00
Bookmark
What is the other name for "Tropical Grasslands in East Africa Region"?
"df SrpienT & § FRUd Iwrafedsdia quryfir &1 geRT =1 o1 82
(A) O Pampas
qa
(B) O Llanos
SEIN]

(C) @ Savanna (Correct Answer) (Chosen option)
BCIGI

(D) O Campos
FN

Question No.9 Marks: 1.00
Bookmark
Which one of the following was a sea port on the east coast during the ancient times?

U & 8§, e § € o 91 gdf de W Rid e ) §e3TE U1
(A) O Kausambi
DI
(B) @ Tamralipti (Correct Answer) (Chosen option)
arfafe
(C) O Ujjayini
R IRE]]

(D) O Mahishmati

Afg e

Question No.10 Marks: 1.00
Bookmark
Which country had successfully test launched a Tsirkon (Zircon) hypersonic cruise missile from a
submarine?
59 <=1 7 TG ¥ RRP M (PR ) TG ol [Hasd &1 Ihadgad URI&on faar e
(A) @ Russia (Correct Answer) (Chosen option)
=g




(B) O United States of America
Tgad I AR

(C) O China
Gl

(D) O France
g

Question No.11

Which is the "Earth's only Satellite"?
"J2d HT THAH SUUG" DI AT 82
(A) O Deimos

SiEin

(B) O Callisto
P!

(C) ® Moon (Correct Answer) (Chosen option)
T Hl

(D) O Phobos
LAk

Marks: 1.00
Bookmark

Question No.12

Karyala is the famous performing art of .
BT 3! URig Fwred wan g
(A) O Himachal Pradesh (Correct Answer)
(B) O Telangana
GRS
(C) ® Kerala (Chosen option)

(D) O Andhra Pradesh
3{fgT UewT

Marks: 1.00
Bookmark

Question No.13

Who is the ex-officio Chairman of the Rajya Sabha in Indian Parliament?
YR TS B AT THT & U JUTARY HIF 81 872
(A) O The Prime Minister of India

HRd & JYTHAT

(B) @ The Vice-President of India (Correct Answer) (Chosen option)
YRA &

(C) O The President of India
HRd & gafd

(D) O Union Minister of Parliamentary Affairs

Marks: 1.00
Bookmark

Question No.14

In which State or Union territory is the Zoji la pass located?

Sl o1 o= fohg o a1 g TMRIT vewr H fRyd 872
(A) O Sikkim
fafgma

(B) O Uttrakhand

(C) O Ladakh (Correct Answer)

e
(D) ®@ Jammu (Chosen option)

ST

Marks: 1.00
Bookmark




Question No.15

Which river is also known as Vishnu ganga?
fora =1} o ooy 7 & A 9 ot S ST 82
(A) O Bhagirathi

HITRA

(B) @ Alaknanda (Correct Answer) (Chosen option)
X KEE )

(C) O Son
-

(D) O Betwa
Sl

Marks: 1.00
Bookmark

Question No.16

When was NITI Aayog established?
i 3T 1 R % g5 A2
(A) @ Jan 12015 (Correct Answer) (Chosen option)
1 ST 2015
(B) O Jan 12014
1 SRt 2014
(C) O Jan 12016
1 SIaRt 2016
(D) O Jan 12017
1 SIFaRt 2017

Marks: 1.00
Bookmark

Question No.17

Sharavati is an important river of which state?
IRTa! {5 9 B T Ayl et 32
(A) O Andhra Pradesh

TS UG

(B) O Tamil Nadu

(C) ® Karnataka (Correct Answer) (Chosen option)

(D) O Maharashtra

HeRTE

Marks: 1.00
Bookmark

Question No.18

Which ruler was also known as 'Vikramaditya'?

g I & fawHfcar & = 9 off ST S 417
(A) O B?ndusara

(B) O Ashoka
3Mp

(C) @ Chandragupta Il (Correct Answer) (Chosen option)
T gt

(D) O Rudradaman
vgaHd

Marks: 1.00
Bookmark

Question No.19

The Word "Laterite" has been derived from the language.
"R VG ST § forn mar g
(A) O Greek

gt (o)

(B) O French
Wi ()

Marks: 1.00
Bookmark




(C) O Spanish

(D) @ Latin (Correct Answer) (Chosen option)

ardi (@fem)

Question No.20 Marks: 1.00
Bookmark

Mahatma Gandhi's biography 'Non Co-operation' was written by
HETET el BT Sia F-H ISR ERUSCIRIERIT
(A) O Dadabhai Naoroji

EECIERINE]
(B) @ Louis Fischer (Correct Answer) (Chosen option)

(C) O Rabindranath Tagore
AfgAT TR

(D) O A OHume
T 37 ggH

Question No.21 Marks: 1.00
Bookmark

Prime Minister (PM) Narendra Modi co-chaired the virtual 18th India-ASEAN (Association of Southeast
Asian Nations) Summit 2021 at the invitation of .
gy wEt (dum) g @ A ¥ =0 IR 3THRTY 18 § HRd-3MRM (Gfogd TiRkmrs =i &
) RRER IwaH 2021 &1 T8-3(Hed B |
(A) O Singapore Prime Minister
MITQR & YT
(B) @ Sultan of Brunei (Correct Answer) (Chosen option)
& geard

(C) O Malaysian Prime minister

TARTS et
(D) O Vietnam President

[ERCRIERISIT]

Question No.22 Marks: 1.00
Bookmark

Who built the famous Brihadeshwara temple at Tanjore?
TR & URIg g8eeR TR foram samn um?
(A) ® Rajendra Chola (Chosen option)
NEETIK
(B) O Vijayalaya Chola
[EERIKPICIS]
(C) O Vijayaditya Chola
[CERIESICIK]

(D) O Raja Raja Chola (Correct Answer)
EIRTS 9

Question No.23 Marks: 1.00
Bookmark

Kuchipudi is a classical dance form of which state?

FoyS! fhd IsT &1 AR T 82

(A) O West Bengal
CIEEKHI]

(B) @ Andhra Pradesh (Correct Answer) (Chosen option)
TS TSR

(C) © Tamil Nadu

GIERELS]

(D) O Uttar Pradesh
IR U™

Question No.24 Marks: 1.00




Bookmark

In 1946, the British Government tried the to convince the Congress and Muslim league for a
federal system.

Tt a1 3q, fofew ReR A 9 1946 1 & A1 § I 3R GRAH T & 7AH & T
fopan |

(A) O C.Rajagopalachari Formula
Y. ASANUTATERY BT

(B) @ Cabinet Mission (Correct Answer) (Chosen option)
Ffae

(C) O Cripps Mission
fopeg o

(D) O Simon Commission

HISHA HHIA

Question No.25 Marks: 1.00

Bookmark
As per latest RBI Guidelines, Certificate of Deposit(CD) shall be issued in minimum denomination of:

SRENSMTE P T GRS & SR, STHT THI0GH (L) ¥ gIaH TeaaTt § oIkt fpar
ST
(A) @ 5 Lakh (Correct Answer) (Chosen option)
59
(B) O 3 Lakhs
3 drd
(C) O 4 Lakh
4 g
(D) O 2 Lakhs
2 g

Question No.1 Marks: 1.00

Bookmark
Find 40% of 101050.

101050 T 40% ITd HIT
(A) O 40390
40390
(B) O 40620
40620
(C) @ 40420 (Correct Answer) (Chosen option)
40420
(D) O 40520
40520

Question No.2 Marks: 1.00

Bookmark
What value should come in the place of question mark (?) in the following equation?
(6190+13211) + ? = 669
Fafafea gfiexu & uars [ (7) F R R ST A 3711 91itE?
(6190+13211) + ? = 669
(A) O 27

(B)O 25
(C)O 31

(D) ® 29 (Correct Answer) (Chosen option)
29

Question No.3 Marks: 1.00

Bookmark
A mixture contains milk and water in the ratio 7:6. If 21 litres of water is added to the mixture, milk and water
in the mixture becomes equal. Find the quantity of milk in the mixture. (In litres)




T o § g IR U & SUTd 7:6 71 afe fsor & 21 diex urt firan fean sime, o farsor & gy ofiR gt
IR 1 11T & | Fsor & g B 7 91d i (cftex H)
(A) O 157

157

(B) @ 147 (Correct Answer) (Chosen option)
147

(C)O 162
162
(D) O 152
152

Question No.4 Marks: 1.00
Bookmark
The ratio of two numbers is 23:24 and their sum is 188. Find the greater number.
3l TReATN BT U 23:24 § 3R 361 TN 188 § | TSI T J1d DI
(A) O 104
104
(B) @ 96 (Correct Answer) (Chosen option)
96
(C)O 92
92
(D) O 100
100

Question No.5 Marks: 1.00
Bookmark
What value should come in the place of question mark (?) in the following equation?
(236+4)+(19/7)(20/8)(56) = 34 + ?
Fafafed gifiexu & uars g (7) F R R ST A 3711 I1ieT?
(236+4)+(19/7)(20/8)(56) = 34 + ?
(A) O 403
403
(B) O 399
399
(C) O 401
401

(D) @ 405 (Correct Answer) (Chosen option)
405

Question No.6 Marks: 1.00
Bookmark

Find the time when: (In years)
Principal = Rs.6525, Sl = Rs.7830 and rate = 8% p.a.
UG F1d P e (as H)
HAYT = Rs.6525, HIYRUI IS = Rs.7830 3R &R = 8% ufa aef|
(A) O 20
20

(B) @ 15 (Correct Answer) (Chosen option)
15

(©)O 30
30

(D) O 25
25

Question No.7 Marks: 1.00
Bookmark
Find the average of numbers 143, 294, 142, 146, 138, 144, 134.
143, 294, 142, 146, 138, 144, 134 — 37 Tem3ff &1 3d F1d BT
(A) O 173
173

(B) @ 163 (Correct Answer) (Chosen option)
163

(C)O 183




183

(D) O 193
193

Question No.8 Marks: 1.00
Bookmark
What value should come in the place of question mark (?) in the following equation?
(15%x15%15)+(5x5%5) = ?
Fafafad giiexu & uars e (7) F R R ST A 371 I1igT?
(15%x15%15)+(5x5%5) = ?
(A) @ 27 (Correct Answer) (Chosen option)
27
(B) O 33
33
(C)O 29
29

(D) O 31
31

Question No.9 Marks: 1.00
Bookmark
Prasad obtained 71, 70, 72, 77 and 80 marks(out of 100) in English, Mathematics, Physics, Chemistry and
Biology. What is his average mark?
TS = Sf¥eh, TTord, Hifdet, o fage SR Sita fagm & (100 & ) 71, 70, 72, 77 3R 80 8id U U
I SN 3 1 52
(A) @ 74 (Correct Answer) (Chosen option)
74

(B)O 76
76

(©)O 70
70

(D)O 72
72

Question No.10 Marks: 1.00
Bookmark
What percent of 1716 is 4297
1716 T faraTT Ufa=Id 429 BT 872
(A) O 30
30

(B) O 20
20

(C)O 35
35

(D) ® 25 (Correct Answer) (Chosen option)
25

Question No.11 Marks: 1.00
Bookmark
Find the simple interest when: (In Rs.)
Principal = Rs.4190, rate = 5% p.a. and time = 12 years
YR TS 1A BT o&: (Rs. H)
AL = Rs.4190, & = 5% Wfd I8 3R I = 12 T
(A) @ 2514 (Correct Answer) (Chosen option)
2514
(B) O 2214
2214
(C)O 2414
2414
(D) O 2314
2314




Question No.12 Marks: 1.00
Bookmark
If 9a=10b and 11b=12c, Find a:b:c?
Tfe 9a=10b 3R 11b=12c §, I a:b:c I HI?
(A) O 36:33:40
36:33:40
(B) O 40:37:33
40:37:33
(C) @ 40:36:33 (Correct Answer) (Chosen option)
40:36:33
(D) O 33:40:36
33:40:36

Question No.13 Marks: 1.00
Bookmark
A basket is bought for Rs.693 and sold at Rs.507. Find 50% of Loss. (In Rs.)
TP A1 Rs.693 T WIET Sl 8 3R Rs.507 H 9=t St B 1 811 &7 50% 1A HITT (Rs. H)

(A) O 87
(B) O 89

(C) ® 93 (Correct Answer) (Chosen option)
93

(D) O 91
91

Question No.14 Marks: 1.00
Bookmark
Mitansh and Nasib together can do a piece of work in 48 days and Otto can do it in 144 days. In how many
days will Mitansh, Nasib and Otto can do it together?
forarer ofiR e AR T & BT 48 o & [T R Tohd § 3R 3iiel 39 144 & & - 1 wobat g1 firaiy,
T 3R 3ficl, 39 HH B UHary fbaq i3 & R O 9hd 872
(A) O 30
30

(B) O 32
32

(C)O 34
34

(D) @ 36 (Correct Answer) (Chosen option)
36

Question No.15 Ma1r|Bso:
Bookmark
The pie chart given here shows the spendings of a college on various sports during a particular year. Study the
graph carefully and answer the questions given below it.




If the total amount spent on sports during the year be Rs.1,80,000 , find the amount spent on Volley Ball. (In Rs.)

Spendings of a college on various sports during a particular year (in %)

H Hockey ® Cricket mFootball = BasketBall mVolley Ball m Others

Wﬁmwuﬁﬂwﬁ@ﬁ%ﬁmﬁw@ﬁmwmﬁa%@aﬁm%
&1 YD T Y 3R 3P A AT T 78t & IR <
H%aﬁ%aﬁm@au?@éaﬁnéﬁm Rs.1,80,000 &,




I aTcliard WR W@ &1 T8 AR J1d DI (Rs. H)
Spendings of a college on various sports during a particular year (in %)

Others, 6%

Volley Ball, 8%

® Hockey m Cricket mFootball = BasketBall mVolley Ball m Others

(A) O 15400
15400

(B) @ 14400 (Correct Answer) (Chosen option)
14400

(C) O 13400
13400

(D) O 12400
12400

Question No.16 Marks: 1.00
Bookmark
The ratio of three numbers is 32:33:34 and their sum is 4950. Find the second number.
A7 TReaft & ST 32:33:34 § 31R 3T TNT 4950 & | G TReAT J1d HIfor|
(A) @ 1650 (Correct Answer) (Chosen option)
1650
(B) O 1686
1686
(C)O 1674
1674
(D) O 1662
1662

Question No.17 Marks: 1.00
Bookmark
A can finish a work in 150 days and B can do the same work in 225 days. Working together, they will
complete the same work in how many days?
A TH HTH BT 150 1 T T HR Thell § 3R B I HTH HY 225 A H R Tobvdl 81 TH 1Y HTH 6 g, I
I B B e &1 # @ pa?
(A) O 92
92




(B) @ 90 (Correct Answer) (Chosen option)
90

(C)O 88

Question No.18

A toy is bought for Rs.415 and sold at Rs.531. Find 50% of profit. (In Rs.)

U® AT Rs.415 H W7 ST § 3R Rs.531 & 9T ST 8 | @Y &1 50% F1d B (Rs. H)
(A) @ 58 (Correct Answer) (Chosen option)

(B) O 56

(C)O 62

(D) O 60

Marks: 1.00
Bookmark

Question No.19

Find the area of Isosceles Right Angle Triangle, whose side is 50 cm. (In cm2)
TH JHIGATg TSI AYS BT YT 50 cm 5 | SUHT EAHA J1d B | (cm? H)
(A) @ 1250 (Correct Answer) (Chosen option)

1250

(B) O 1450
1450

(C) O 1350
1350

(D) O 1150
1150

Marks: 1.00
Bookmark

Question No.20

Marks:
1.00

Bookmark

The pie chart given here shows the spendings of a college on various sports during a particular year. Study the

graph carefully and answer the questions given below it.




If the total amount spent on sports during the year be Rs.1,80,000 , find the amount spent on Basketball. (In Rs.)

Spendings of a college on various sports during a particular year (in %)

B Hockey ® Cricket mFootball = BasketBall mVolley Ball m Others

Wﬁmwuﬁﬂwﬁﬁwﬁ%ﬁmﬁw@@mwmﬁa%@aﬁm%
BT HHYID HETTT P AR 3B A T T Yoff & IR <
H%aﬁ%aﬁm@au?@éaﬁnéﬁm Rs.1,80,000 &,




dl SRpeald R T B T3 AT BT Udl M (Rs. H)
Spendings of a college on various sports during a particular year (in %)

Others, 6%

Volley Ball, 8%

® Hockey m Cricket mFootball = BasketBall mVolley Ball m Others

(A) O 24600
24600

(B) O 22600
22600

(C) O 23600
23600

(D) ® 21600 (Correct Answer) (Chosen option)
21600

Question No.21 Marks: 1.00
Bookmark
What value should come in the place of question mark (?) in the following equation?
? x (157+58.5) = 10775
TR H UyaTEd g (?) & RIM W ST 4 AT T1u?

? x (157+58.5) = 10775
(A) O 52

52
(B) @ 50 (Correct Answer) (Chosen option)

50
(C)O 48

48

(D) O 54
54

Question No.22 Marks: 1.00
Bookmark
Pipe A can fill a tank in 153 minutes and Pipe B can empty the same tank in 306 minutes. If both pipes are
opened together, how many minutes will it take to fill the empty tank?
T30 A U ¢! &l 153 fie B R UhaT § oIk Urgy B 3 ¢t &I 306 e & Wrelt o= ava g1 3 ST
UISUl &1 U 1Y Wi a1 e, < Wreit <t & 4R J foha e o1 99 aihme?




(A) O 304
304

(B) O 310
310

(C) @ 306 (Correct Answer) (Chosen option)
306

(D) O 308
308

Question No.23 Marks: 1.00
Bookmark
The average of 4 terms is 143 and the 15t term is 1/3 of the remaining terms. What will be the first term?
4 UGS} BT 3T 143 B 3R UgdT Ug, §1fds TSt &1 1/3 § 1 U8 UG o gHTI?
(A) O 145
145
B) O 141
141
(C) O 147
147

(D) @ 143 (Correct Answer) (Chosen option)
143

Question No.24 Marks: 1.00
Bookmark
If 30% of a certain number is 717, then what is 70% of that number?
Tfe U fRfEa = &1 30% 717 B, O 39 T- 6T 70% a1 82
(A) O 1773
1773
(B) @ 1673 (Correct Answer) (Chosen option)
1673
(C)O 1973
1973
(D) O 1873
1873

Question No.25 Marks: 1.00
Bookmark
If 219% of X = 391% of 219, what is the value of X?
TfE X BT 219% = 219 BT 391% &, Tl X HT A T 82
(A) O 385
385

(B) O 387
387

(C)O 389
389

(D) @ 391 (Correct Answer) (Chosen option)
391

Case Study -1to 3 3.00
Read the short passage below and answer the questions that follow.

Alfred Nobel’s willed legacy to reward exceptional work that furthers fraternity among nations, eliminates or reduces
armies and promotes congresses of peace has brought the Nobel Peace Prize to a variety of causes — from abolition
of landmines, nuclear and chemical weapons to addressing climate change, besides conflict resolution. This year’s
prize has been awarded to the World Food Programme (WFP), of the UN system, for its contribution to combating
hunger in conflict and disaster-struck sites. The Norwegian Nobel Committee took note of the WFP’s life-saving role
in the year of the pandemic, staving off catastrophes of hunger in Yemen, Congo, Nigeria, South Sudan and Burkina
Faso. The Prize is a fitting tribute to the aid workers who brave hazardous conditions to reach starving people in
theatres of war, civil strife and natural disasters, moving food on aircraft, trucks and even all-terrain amphibious
vehicles. The decision to honour the WFP echoes the advice of another peace laureate from 1949, Lord John Boyd
Orr, the first head of the FAO, that peace cannot be built on empty stomachs. That counsel must resonate even more
with all countries and foster greater cooperation to close the WFP’s funding gap of $4.1 billion, as the world’s hunger
map presents a depressing picture with more than a quarter of the population facing undernourishment in many




countries; in strife-ridden Syria, an estimated 4.6 million people survive on food aid. Clearly, without stronger
commitment from the big powers, the challenge to feed the millions who suffer acute hunger due to conflict and failed
agriculture can never be met.

The recognition that the WFP has received can help the humanitarian organisation prepare for a decade of ambition
and help meet the Sustainable Development Goals (SDG). Of central importance is SDG 2 — achieving zero hunger
by 2030 — a target that requires determination to resolve festering armed conflict, and more fundamentally, to
mitigate carbon emissions early and avert effects on agriculture from disastrous climate events. As the Norwegian
committee has pointed out, the need for international solidarity and multilateral cooperation is more conspicuous than
ever. Democracy also needs strengthening to help achieve equitable food distribution and end hunger, a salutary
outcome experienced by free societies that also have unfettered media. Several poor countries have suffered a
severe setback to their developmental aspirations due to the pandemic, and lack strong institutional governance to
manage the crisis. This is a time for the world’s big powers to strengthen the UN system, espousing fraternity,
shunning militarism, greening economies and resolving conflicts in the true spirit of the Peace Prize.

Question No.1 Marks: 1.00

Bookmark
Who was the first head of the FAO?
Who was the first head of the FAO?
(A) O Woodrow Wilson
Woodrow Wilson

(B) @ Lord John Boyd Orr (Correct Answer) (Chosen option)
Lord John Boyd Orr

(C) O NC Saxena
NC Saxena

(D) O Alfred Nobel
Alfred Nobel

Question No.2 Marks: 1.00

Bookmark
The letter G in the SDG stands for:

The letter G in the SDG stands for:
(A) O Grades
Grades
(B) O Groups
Groups
(C) O Gaps
Gaps
(D) @ Goals (Correct Answer) (Chosen option)
Goals

Question No.3 Marks: 1.00

Bookmark
What is the contextual meaning for the highlighted word 'Determination'?

What is the contextual meaning for the highlighted word 'Determination'?
(A) O Theory
Theory
(B) O Spurious
Spurious
(C) © Ambiguity
Ambiguity
(D) @ Certainty (Correct Answer) (Chosen option)
Certainty

Question No.4 Marks: 1.00

Bookmark
Replace the underlined phrase grammatically and conceptually with the help of the given options. If the
given sentence is correct then select the option 'The given sentence is correct'.

Bus commuters in Tamil Nadu will have to face a harrowing time from Thursday as nine transport trade
unions will begin observing their indefinite strike today.

Replace the underlined phrase grammatically and conceptually with the help of the given options. If the
given sentence is correct then select the option 'The given sentence is correct'.

Bus commuters in Tamil Nadu will have to face a harrowing time from Thursday as nine transport trade
unions will begin observing their indefinite strike today.




(A) O will has to face a harrowing time from
will has to face a harrowing time from

(B) O will have for face a harrowing time from
will have for face a harrowing time from

(C) O will has to face an harrowing time from
will has to face an harrowing time from

(D) @ The given sentence is correct (Correct Answer) (Chosen option)
The given sentence is correct

Question No.5

Fill in the blank with suitable verb.

Have you chinese food before?
Fill in the blank with suitable verb.

Have you chinese food before?
(A) @ eaten (Correct Answer) (Chosen option)
eaten

(B) O eat

eat

(C) O ate
ate
(D) O eats
eats

Marks: 1.00
Bookmark

Question No.6

Choose the word which best expresses the similar meaning of the given word " EQUIVOCATION ".
Choose the word which best expresses the similar meaning of the given word " EQUIVOCATION ".

(A) O uprightness
uprightness

(B) O Honesty
Honesty

(C) @ Ambiguity (Correct Answer) (Chosen option)
Ambiguity

(D) O Certainty
Certainty

Marks: 1.00
Bookmark

Question No.7

Find the word which is correctly spelt from the given options.
Find the word which is correctly spelt from the given options.

(A) O Arithmatic
Arithmatic

(B) O Hypothatical
Hypothatical

(C) O Buisness
Buisness

(D) @ Embellish (Correct Answer) (Chosen option)
Embellish

Marks: 1.00
Bookmark

Question No.8

Choose the word which best expresses the similar meaning of the given word " ORNATE ".
Choose the word which best expresses the similar meaning of the given word " ORNATE ".

(A) O Dull
Dull

(B) @ Elegant (Correct Answer) (Chosen option)
Elegant

(C) O Unsophisticated
Unsophisticated

(D) O Callow
Callow

Marks: 1.00
Bookmark




Question No.9 Marks: 1.00

Bookmark
Fill in the blank with suitable verb.
Jasmine for her relatives.
Fill in the blank with suitable verb.
Jasmine for her relatives.
(A) @ was waiting (Correct Answer) (Chosen option)
was waiting
(B) O waiting
waiting
(C) O wait
wait
(D) O has waiting
has waiting
Question No.10 Marks: 1.00
Bookmark
Replace the underlined phrase grammatically and conceptually with the help of the given options. If the
given sentence is correct then select the option 'The given sentence is correct'.
The strike will been observed by eight State Transport Undertakings (STUs), including the Metropolitan
Transport Corporation.
Replace the underlined phrase grammatically and conceptually with the help of the given options. If the
given sentence is correct then select the option 'The given sentence is correct'.
The strike will been observed by eight State Transport Undertakings (STUs), including the Metropolitan
Transport Corporation.
(A) O will being observe by eight State Transport
will being observe by eight State Transport
(B) @ will be observed by eight State Transport (Correct Answer) (Chosen option)
will be observed by eight State Transport
(C) O will been observed to eight State Transport
will been observed to eight State Transport
(D) O The given sentence is correct
The given sentence is correct
Question No.11 Marks: 1.00
Bookmark
Fill in the blanks with suitable Preposition from the given alternatives.
The train leaves the junction 7.10 A.M. each morning.
Fill in the blanks with suitable Preposition from the given alternatives.
The train leaves the junction 7.10 A.M. each morning.
(A) @ at (Correct Answer) (Chosen option)
at
(B) O in
in
(C) O against
against
(D) O across
across
Question No.12 Marks: 1.00
Bookmark

Choose the word which expresses nearly the opposite meaning of the given word " INTERIM ".
Choose the word which expresses nearly the opposite meaning of the given word " INTERIM ".
(A) @ Permanent (Correct Answer) (Chosen option)

Permanent
(B) O Acting

Acting
(C) O Provisional




Provisional

(D) O Temporary
Temporary

Question No.13

Choose the word which expresses nearly the opposite meaning of the given word " TURMOIL ".
Choose the word which expresses nearly the opposite meaning of the given word " TURMOIL ".

(A) O Disturbance
Disturbance

(B) O Disorder
Disorder

(C) ® Calm (Correct Answer) (Chosen option)
Calm

(D) O Bustle
Bustle

Marks: 1.00
Bookmark

Question No.14

Choose the word which expresses nearly the opposite meaning of the given word " ARBITRATION ".
Choose the word which expresses nearly the opposite meaning of the given word " ARBITRATION ".

(A) O Decision
Decision

(B) O Compromise
Compromise

(C) O Agreement
Agreement

(D) @ Disagreement (Correct Answer) (Chosen option)
Disagreement

Marks: 1.00
Bookmark

Question No.15

Fill in the blanks with suitable Article from the given alternatives.

Most of chimneys come with a lifetime warranty offer so that you can enjoy cooking for

many years.
Fill in the blanks with suitable Article from the given alternatives.

Most of chimneys come with a lifetime warranty offer so that you can enjoy cooking for

many years.
(A)O a

a

(B) O an

an

(C) @ the (Correct Answer) (Chosen option)
the

(D) O No Article
No Article

Marks: 1.00
Bookmark

Question No.16

Choose the word which best expresses the similar meaning of the given word " PANACHE ".
Choose the word which best expresses the similar meaning of the given word " PANACHE ".
(A) O Awkward

Awkward

(B) ® Flamboyance (Correct Answer) (Chosen option)
Flamboyance

(C) O Apathy
Apathy

(D) O Dislike
Dislike

Marks: 1.00
Bookmark

Question No.17

Marks: 1.00




Fill in the blank with suitable verb.

She a speech in the function.
Fill in the blank with suitable verb.

She a speech in the function.

(A) O will be give
will be give

(B) O will does
will does

(C) @ will give (Correct Answer) (Chosen option)
will give

(D) O would have be giving
would have be giving

Bookmark

Question No.18

Fill in the blanks with suitable Preposition from the given alternatives.

Centre approves the construction of buds Kaleswaram project.
Fill in the blanks with suitable Preposition from the given alternatives.

Centre approves the construction of buds Kaleswaram project.
(A) O by
by
(B) O since
since
(C) @ under (Correct Answer) (Chosen option)
under

(D) O about
about

Marks: 1.00
Bookmark

Question No.19

Fill in the blanks with suitable Article from the given alternatives.

English has become one of common languages among people.
Fill in the blanks with suitable Article from the given alternatives.

English has become one of common languages among people.
(A) @ the (Correct Answer) (Chosen option)
the

B)O a

a

(C)O an

an

(D) O No article
No article

Marks: 1.00
Bookmark

Question No.20

Rearrange the following to form a meaningful sentence and find the most logical order from the given
options.

P: to a family of lighthouse designers

Q: suffered from respiratory problems for most of his life

R: Robert Louis Stevenson born in Scotland

S: was an only and sick child who

Rearrange the following to form a meaningful sentence and find the most logical order from the given
options.

P: to a family of lighthouse designers

Q: suffered from respiratory problems for most of his life
R: Robert Louis Stevenson born in Scotland

S: was an only and sick child who

Marks: 1.00
Bookmark




(A) O RSPQ
RSPQ

(B) O RSQP
RSQP

(C) ® RPSQ (Correct Answer) (Chosen option)
RPSQ

(D) O RPQS
RPQS

Question No.21

Fill in the blanks with suitable determiner from the given alternatives.

Could you pour me water, please?
Fill in the blanks with suitable determiner from the given alternatives.

Could you pour me water, please?
(A) O much
much

(B) ® some (Correct Answer) (Chosen option)
some

(C) O any
any

(D) O most
most

Marks: 1.00
Bookmark

Question No.22

Find the word which is correctly spelt from the given options.
Find the word which is correctly spelt from the given options.
(A) O Encoragement

Encoragement
(B) O Catalist

Catalist

(C) ® Candidate (Correct Answer) (Chosen option)
Candidate

(D) O Arthiritis
Arthiritis

Marks: 1.00
Bookmark

Question No.23

Fill in the blanks with suitable Preposition from the given alternatives.

The way to a man's heart is his stomach.
Fill in the blanks with suitable Preposition from the given alternatives.

The way to a man's heart is his stomach.
(A) O for
for

(B) O along
along

(C) @ through (Correct Answer) (Chosen option)
through

(D) O after
after

Marks: 1.00
Bookmark

Question No.24

Rearrange the following to form a meaningful sentence and find the most logical order from the given
options.

P: Polonius and Claudius spy on the

Q: during which Hamlet flies into

R: meeting between Ophelia and Hamlet
S: rage against women and marriage

Marks: 1.00
Bookmark




Rearrange the following to form a meaningful sentence and find the most logical order from the given
options.

P: Polonius and Claudius spy on the
Q: during which Hamlet flies into
R: meeting between Ophelia and Hamlet
S: rage against women and marriage
(A) O QSRP

QSRP

(B) O QSPR
QSPR

(C) @ PRQS (Correct Answer) (Chosen option)
PRQS

(D) O PQRS
PQRS

Question No.25

Fill in the blanks with suitable Article from the given alternatives.

The Hindu is ninth-most-circulated newspaper in India.
Fill in the blanks with suitable Article from the given alternatives.

The Hindu is ninth-most-circulated newspaper in India.
(A) O No Atrticle
No Article

(B) O an

an

(C)O a

a

(D) @ the (Correct Answer) (Chosen option)
the

Marks: 1.00
Bookmark
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